





& s Fimd 1ab A and 1 unig | £
IO N
A | 8
A —
—
K
{L i i
=1 e
:" II.' Find the reactions at A and I} for the I 1T a5 50 it
I methed: E1 = Constant
! ) e L ]

wons al A Bapd ko [kl sEARy a3 shown . | 1 gl
El = Constant




& s Fimd 1ab A and 1 unig | £
IO N
A | 8
A —
—
K
{L i i
=1 e
:" II.' Find the reactions at A and I} for the I 1T a5 50 it
I methed: E1 = Constant
! ) e L ]

wons al A Bapd ko [kl sEARy a3 shown . | 1 gl
El = Constant







' i

r;‘_ti.+TTTertrrth+1TT{
h L

i - S

- FLD Am

1‘1‘1;1‘1[5




Consiant




i e
el i -
e 5
213
e ; J
1 - N 3 A S
._'1_-.|-,=|-||-_. s
L L o
-
-
I I Tt 1 ¢ ietribution methed. EI nElant
= pul [RIRIEE ] | i




